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% ¥ % % % Instructions to Contestants

1.

10.

11.

R S AN %%—"ﬁ A B - At S A G
You should place your Admission Form on your desk for the whole session.
PR FHRE M AT FRTF LR R R IEP R -
During the competition, you should switch off your mobile phone and any other electronic or
communication devices that can emit sound.
AIEP LA EA R AR R AT P o
Contestants should finish all questions in this 1-hour written test.
EEMATEBRERIE S FFHL LI 2 FE R R
Write your name, class, admission number, seat number and school name on the front cover of your
answer sheet.
%%ﬁ%“%ﬁﬁﬁ%**ﬁﬁ%iiﬁﬁo
You can only use the rough work sheet provided by the organizer.

%ﬁz ﬂ%“;t%é - E o
The use of calculators is NOT allowed.

TR FP ERED A GRELFIRL > FRII L 2 FFT FERFEHT

Put your answers on the answer sheet provided, otherwise, the answers will not be marked. You are not
required to show the steps in your calculations.
ISl ELATE SN e A N
Unless otherwise stated by the question, answers of fraction should be expressed in their simplest form.
%%ﬁ%ﬂ“’gﬁﬁﬁiﬁﬁiﬁﬁzﬁﬁii%ﬁﬁﬁo
Under normal circumstances, contestants are not allowed to leave the contest venue before the end of this
session.
E R %%E'J—‘gf”ﬁ TR EFTR
Any contestantwho violates the rules and regulations of the competition might risk disqualification.
FEFIH FERLFEPN FIERPAR ALK SFF AT A FRAL
gﬁz’@mzﬁﬁgo'g@g{fwgmﬁjﬁé%iﬁo
If you have any queries, you should contact the officer-in-charge immediately after the competition. Late
queries will not be entertained. The decision of the organizing committee will be final.
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pEYL L — | pF e 1100
Time Allowed:1 hour Total marks: 100
1. 3K 24 136 /]\iA 1000 Ay AR AFEEY - (CPs))
Find the largest common multiple of 24 and 36 which is less than 1000. (3 marks)
2. ={EHSREREIREE 2022 » Hig =% MIAVEAE @ 7)
The product of three different positive integers is 2022, find the largest value of the sum of the
three integers. (3 marks)
3. HEHARPRGHEENAIZER - (4 77)
Fill in the empty squares of the long division. 9 T] EI [Gj %
[] 8
5 [
4 ?4+ .. HIE (5 47) Dgg
" TT1x5 5x9 17x21 06
Find the value of i+ ot 4 . (5 marks) 0
1x5 5x9 17x21
5  MRIBMIE - FikEG DHVESE (4 57)
Find the missing number in the pattern. (4 marks)
-7,-6,-3, 2,9, 18, 29, , 57, ... P
6. AEFET={EETF HEEIHIRLem 2cm k
4 cm - SKEF =4 MNP AYHIFE - (577)
In the figure, there are 3 squares whose side lengths are 1 cm, N 4cm
2 cm and 4 cm respectively. What is the area of the triangle M 2 em
MNP (cm?)? (5 marks) I cm
7. /NEE(Betty) B/ N (Alex) [ET¥ EIBE T AR b o WA B5S ©
F—REEEREA IR - B N RAREE R AR ) 5
& B N AN ERVEE - SERNNATR(E 228 E FEE >
AT RV NERVNG 7 hlst B E R E R ERN(ES & — é
5 SKIEEAEAIE - (7 453) &
Alex and Betty are facing each other. Between them, there is a Alex D Betty
sequence of digits and plus signs written on the ground, as f + m
shown in the following figure. From their points of view, Alex % |:|
and Betty see two different expressions. Two digits can be filled = t\
in the two squares so that their expressions have the same value. 3 L
What is the value? (7 marks) =
8. HEEIRE-HEE A 2cm WEIF - RALATA R AV E ZE - B

POfEfLaeEE A, C E, G lyHe [ERYELL - AHIC, CIJE,
EJKG, COPE A 5 K& BLMD, DMNF £ 1F 5 - KEH
bes Bl o BYTHIR - (547)

Ten circular cards of radius 2 cm each are arranged as shown in
the figure. Given that the four collinear points A, C, E, G are the
centres of the white cards, and AHIC, CIJE, EJKG, COPE are
rectangles and BLMD, DMNF are squares. What is the area of
the shaded region (cm?) ? (5 marks)
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10.

11.

12.

13.

14.

15.
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KTIEFP-Q R S THJH - (5 57)
In the figure, find the values of P, Q, R, Sand T. (5 marks)

- [ ] !

C | | | | | | 3 i 2 :_

D | | 4 - 5 -

E 5 = 3 =

o 6 = 1 =

S | - |E=] 4 T=

X 11 [ ]

el T T 11 8

T | | | 10
WA FrR > PO ABCD HYEf 548 AC F1BDHYACEGZ O - A B
AAOD- ABOC J2AAOB {yIHif& 57 Al;E 14cm?~35cm”- 10cm? 3

3k ADOC (& - (4 47)

In the figure, the diagonals AC and BD of the quadrilateral
ABCD intersect at O. Given that the area of AAOD, 4BOC,
and AAOB is 14cm? ~ 35cm? - 10cm? respectively, find the area ) C
of the ADOC. (4 marks)

CUAI6H ABCD HYEIfRE 224 - Hrp X7£ BC Ef#Efs A D

AD:BX);_’(BX:%XC o Y #£ CD Lf#Ef5 2YC=YD -

K2 El YIS (6 57)
It is given that the area of the trapezium ABCD is 224, where X

is on BC such that AD = BX and BX =§xc YisonCDsuch B X

that 2YC = YD. Find the shaded area. (6 marks)

GlE A 256 {E/NJ71E - S VUSRS » KK SR T
4RSS - (547)
The figure contains 256 boxes, each is formed by four

matches. Find the total number of matches. (5 marks) l

WlE 3x3 KRR T - HAEENET - (EfeHmy] -~ 5T
KGRV RIgHE > Al a+b+ct+d+e WUERS a b c
8

W2 (547 2 | 5

A 3x3 square array of numbers are shown in the figure, if the 4 d

sum of each row, each column and each diagonal are the same,

what is the value of a+b+c+d+e? (5 marks)

3 + 57 R %) ? (7 53)
What is the units digit of 3*% +5%% 2 (7 marks)
pE—{HE% > Hp>=1104601>Kp- 543)

p is a prime number and p? = 1 104 601, find p. (5 marks)
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17.

18.

19.

20.
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NHEHVEZEEH 20 (E2 & 3 IETIVEBRK o KEIZE T sy m - (7 97)

The following pattern is formed by overlapping 20 squares of side 3 units. Find the total area of

the shaded region in the pattern. (7 marks)
: 1
2] 2
2 F ',
p i
2 E , 1 : H [
1 [ ]
2 i D |, ? ! * — s
| 1 R ',
. [
3
12 ! 3 p T
3
KTEF ABE - (457)
In the following figures, find the value of A. (4 marks)

O AA ®) @]®)
oOAA oA oo’

61 29 A

1 SR 2 SRE[ERE A ~ B WHAHRIGAS - 1 98 FAE/NST 56 ToK » 2 SRE/NIF{T 48
Tok o WEAERERE 32 TOREAHME - K A ~ B FIHAYEEHE - (5 97)

Car 1 and Car 2 oppositely start the journey from City A and B respectively at the same time.

The speeds of Car 1 and Car 2 are 56 km/h and 48 km/h respectively. They meet with each

other at 32 km away from the mid-point of City A and City B. Find the distance between City A
and City B. (5 marks)

e —iR R ITIPIEE-RAR(E & R IR I (E A5 — SR /A 5em HYIEJTE » Wi

ZEERARPER—(E & T A S A8 R 5405 cm?® o SKIFE R FIEATRER4RATERE
(547)

Cut a 5 cm square from all four corners of a piece of rectangular cardboard (sides with positive

integer), and fold the cardboard into a rectangular box such that it’s capacity is 5405 cm?®. Find

the area of the original rectangle of cardboard. (5 marks)

WEFT~ ABCDEF f—7NiEH Hiff AB =BC =13 ¢cm
CD=8cm- DE=AF=16cm K EF=10cm o E251&{@E
FRIH AR S H LUONE TR THEEE R B - HF L C
Fe D BELLHIRIEAEY]  SRE2SZER Y 5T -
(Hlm=3.14) (6 77)
As shown, ABCDEF is a hexagon with AB =BC = 13 cm,
CD=8cm, DE =AF =16 cmand EF =10 cm. It is given
that the radii of each sector are equal and the vertex of the
hexagon is the center of the circle, where the sectors with the c D
centers C and D are tangent. Find the perimeter of the shaded
area. (take m =3.14) (6 marks)

S#&52 END OF PAPER
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